## SOME PROPERTIES OF GENERALIZED EULER NUMBERS

D. J. LEEMING AND R. A. MACLEOD

**1. Introduction.** We define infinitely many sequences of integers  $\{E_n^{(k)}\}_{n=0}^{\infty}$ , one sequence for each positive integer  $k \ge 2$  by

(1.1) 
$$\begin{cases} E_0^{(k)} = 1\\ \sum_{j=1}^k (E^{(k)} + \omega_j^{(k)})^n = \begin{cases} k, & n = 0\\ 0, & n > 0 \end{cases}$$

where  $\{\omega_j{}^{(k)}\}_{j=1}^k$  are the *k*-th roots of unity and  $(E^{(k)})^n$  is replaced by  $E_n{}^{(k)}$  after multiplying out. An immediate consequence of (1.1) is

(1.2)  $E_n^{(k)} = 0 \quad n \not\equiv 0 \pmod{k}.$ 

Therefore, we are interested in numbers of the form  $E_{sk}^{(k)}$  (s = 0, 1, 2, ...; k = 2, 3, ...).

Some special cases have been considered in the literature. For k = 2, we obtain the Euler numbers (see e.g. [8]). The case k = 3 is considered briefly by D. H. Lehmer [7], and the case k = 4 by Leeming [6] and Carlitz ([1] and [2]).

**2.** General properties of the number sequences  $\{E_{sk}^{(k)}\}_{s=0}^{\infty}$ . There are some interesting properties shared by all sequences  $\{E_{sk}^{(k)}\}$  defined by (1.1) which we present as a series of theorems.

THEOREM 2.1. For k = 2, 3, ...; n = 0, 1, ... we have

(2.1) 
$$\sum_{s=0}^{n} \binom{nk}{sk} E_{sk}^{(k)} = \begin{cases} 1, & n=0\\ 0, & n>0. \end{cases}$$

*Proof.* We have defined  $E_{sk}^{(k)}$   $(k = 2, 3, \ldots; s = 0, 1, \ldots)$  by (1.1). Since  $E_0^{(k)} = 1$ , the result is true for n = 0. For the case n > 0,

$$\sum_{j=1}^{k} \sum_{s=0}^{nk} \binom{nk}{s} (E^{(k)})^{s} (\omega_{j}^{(k)})^{nk-s} = 0.$$

Using (1.2), this reduces to

$$\sum_{i=1}^{k} \sum_{s=0}^{n} {\binom{nk}{sk}} E_{sk}^{(k)} (\omega_{j}^{(k)})^{nk-sk} = 0.$$

Received October 15, 1979 and in revised form April 20, 1980. The authors are grateful for partial support provided by a University of Victoria Faculty research grant and by NSERC Grants A-5264 and A-8061.

Since  $(\omega_j^{(k)})^{nk-sk} = 1$  (j = 1, 2, ..., k; s = 0, 1, ...), we have

$$\sum_{s=0}^{n} \binom{nk}{sk} E_{sk}^{(k)} (\omega_{j}^{(k)})^{nk-sk} = \sum_{s=0}^{n} \binom{nk}{sk} E_{sk}^{(k)}, \quad (n > 0)$$

independent of j. Therefore,

$$\sum_{j=1}^{k} \sum_{s=0}^{n} \binom{nk}{sk} E_{sk}^{(k)} = k \sum_{s=0}^{n} \binom{nk}{sk} E_{sk}^{(k)} = 0,$$

and (2.1) follows.

THEOREM 2.2.  $E_{sk}^{(k)} \equiv 1 \pmod{2}, k = 2, 3, \ldots; s = 0, 1, \ldots$ 

*Proof.* From (2.1) we have

$$E_0^{(k)} = 1, \ E_k^{(k)} = -1, \ E_{2k}^{(k)} = \binom{2k}{k} - 1,$$

and since

$$\binom{2k}{k} = 2\binom{2k-1}{k},$$

 $E_{2k}^{(k)}$  is odd. Proceeding by induction, we assume  $E_{(n-1)k}^{(k)}$  is odd for some fixed value of k. Using (2.1) we have

(2.2) 
$$E_{nk}^{(k)} = -1 - \binom{nk}{k} \left( E_k^{(k)} + E_{(n-1)k}^{(k)} \right) - \sum_{s=2}^{n-2} \binom{nk}{sk} E_{sk}^{(k)}$$

Now  $E_k^{(k)} = -1$  and by our inductive assumption  $E_{(n-1)k}^{(k)}$  is odd so the second term in the right hand member of (2.2) is even. Now we need only show that

$$\sum_{s=2}^{n-2} \binom{nk}{sk} E_{sk}^{(k)}$$

is even. There are two cases to consider.

Case 1. (n odd). Then we have

$$\sum_{s=2}^{n-2} \binom{nk}{sk} E_{sk}^{(k)} = \sum_{s=2}^{(n/2)-1} \binom{nk}{sk} (E_{sk}^{(k)} + E_{nk-sk}^{(k)}),$$

which is even by our inductive assumption.

Case 2. (*n* even). We remove the term with s = n/2 and pair the remaining n - 4 terms to obtain

(2.3) 
$$\sum_{s=2}^{n-2} \binom{nk}{sk} E_{sk}^{(k)} = \binom{nk}{\frac{n}{2}k} E_{(n/2)k}^{(k)} + \sum_{s=2}^{(n/2)-1} \binom{nk}{sk} (E_{sk}^{(k)} + E_{nk-sk}^{(k)}).$$

Now

 $\binom{nk}{\frac{n}{2}k}$ 

is even, and the second member on the right in (2.3) is even by the inductive assumption. Therefore, the left hand member of (2.3) is even.

This completes the proof of Theorem 2.2.

THEOREM 2.3. For k = 2, 3, ...; s = 0, 1, ...

(2.5) 
$$E_{sk}^{(k)} = \sum_{\substack{n_1 + \ldots + n_t = s \\ n_i > 0}} (-1)^t {\binom{sk}{n_1k, \ldots, n_tk}}.$$

Proof. Define

$$A_{q,j}^{(k)} = \sum_{\substack{l_1+\ldots+l_j=q\\l_i>0}} \frac{(qk)!}{(l_1k)!\ldots(l_jk)!} = \sum_{\substack{l_1+\ldots+l_j=q\\l_i>0}} \binom{qk}{l_1k,\ldots,l_jk}.$$

Then,

$$A_{q,j+1}^{(k)} = \sum_{r=j}^{q-1} \sum_{\substack{l_1+\ldots+l_j=q\\l_i>0}} \frac{(qk)!}{((q-r)k)!(l_1k)!\ldots(l_jk)!}.$$

We now show by induction that

(2.6) 
$$E_{sk}^{(k)} = \sum_{j=1}^{s} (-1)^{j} A_{s,j}^{(k)}.$$

Let k be fixed  $(k \ge 2)$ . In the case s = 1

$$E_k^{(k)} = -A_{1,1}^{(k)} = -\frac{k!}{k!} = -1.$$

Proceeding by induction, assume (2.6) is true for some positive integer *s*. Now from (2.1) we have

$$\sum_{r=0}^{s+1} \binom{(s+1)k}{rk} E_{rk}^{(k)} = 0;$$

so, since  $E_0^{(k)} = 1$ ,

$$E_{(s+1)k}^{(k)} = -\sum_{\tau=1}^{s} \left( \binom{(s+1)k}{rk} \right) E_{\tau k}^{(k)} - 1$$

$$= -\sum_{\tau=1}^{s} \left( \binom{(s+1)k}{rk} \right) \sum_{j=1}^{\tau} (-1)^{j} A_{\tau, j}^{(k)} - 1$$

$$= -\sum_{j=1}^{s} (-1)^{j} \sum_{\tau=j}^{s} \left( \binom{(s+1)k}{rk} \right) \sum_{\substack{l_{1}+\ldots+l_{j}=\tau\\ l_{l}>0}} \frac{(rk)!}{(l_{1}k)!\ldots(l_{j}k)!} - 1$$

$$= -\sum_{j=1}^{s} (-1)^{j} \sum_{\tau=j}^{s} \frac{((s+1)k)!}{(s+1-\tau)k!!(l_{1}k)!\ldots(l_{j}k)!} - 1$$

$$= -\sum_{j=1}^{s} (-1)^{j} \sum_{\tau=j}^{s} A_{s+1, j+1}^{(k)} - 1.$$

Setting  $\nu = j + 1$  yields

$$E_{(s+1)k}^{(k)} = -\sum_{\nu=2}^{s+1} (-1)^{\nu-1} A_{s+1,\nu}^{(k)} - 1 = \sum_{\nu=2}^{s+1} (-1)^{\nu} A_{s+1,\nu}^{(k)} - 1$$
$$= \sum_{\nu=1}^{s+1} (-1)^{\nu} A_{s+1,\nu}^{(k)}.$$

3. A generating function for the number sequences  $\{E_{sk}^{(k)}\}_{s=0}^{\infty}$ . Suppose f(x) has the (formal) Maclaurin expansion

(3.1) 
$$f(x) = \sum_{m=0}^{\infty} a_m x^m$$
.

Then we have the following result.

THEOREM 3.1. For k = 2, 3, ...

(3.2) 
$$\sum_{j=1}^{k} f(E^{(k)} + x + \omega_j^{(k)}) = kf(x).$$
  
Proof.

Prooj.

$$\sum_{j=1}^{k} f(E^{(k)} + x + \omega_{j}^{(k)}) = \sum_{j=1}^{k} \sum_{m=0}^{\infty} a_{m} (E^{(k)} + x + \omega_{j}^{(k)})^{m}$$
  
$$= \sum_{m=0}^{\infty} a_{m} \sum_{n=0}^{m} \left\{ \sum_{j=1}^{k} (E^{(k)} + \omega_{j}^{(k)})^{n} \right\} {\binom{m}{n}} x^{m-n}$$
  
$$= k a_{0} + \sum_{m=1}^{\infty} a_{m} \left\{ kx^{m} + \sum_{n=1}^{m} \left( \sum_{j=1}^{k} (E^{(k)} + \omega_{j}^{(k)})^{n} \right) {\binom{m}{n}} x^{m-n} \right\}$$
  
$$= k a_{0} + k \sum_{m=1}^{\infty} a_{m} x^{m} \text{ by } (1.1) = kf(x)$$

COROLLARY 3.1. For  $k = 2, 3, \ldots$  we have

(3.3) 
$$\sum_{j=1}^{k} \{ E^{(k)} + (x + \omega_j^{(k)}) \}^n = k x^n$$

*Note.* If n = x = 0, the right hand side is to be read as k.

We now obtain a generating function for each number sequence  $\{E_{sk}^{(k)}\}_{s=0}^{\infty} (k = 2, 3, \ldots).$ 

THEOREM 3.2. For k = 2, 3, ...

$$e^{E^{(k)_z}} = \frac{1}{Q_k(z)}$$
 where  $Q_k(z) = \sum_{s=0}^{\infty} \frac{z^{sk}}{(sk)!}$ .

*Proof.* Set x = 0 and  $f(t) = e^{zt}$  in (3.2). Then  $f(0) = a_0 = 1$ , and we obtain (setting  $\omega = \omega^{(k)}$ )

$$e^{(E^{(k)}+1)z} + e^{(E^{(k)}+\omega)z} + \ldots + e^{(E^{(k)}+\omega^{k-1})z} = k$$

i.e.,

$$\frac{e^{E^{(k)}z}(e^{z} + e^{\omega z} + \dots + e^{\omega^{k-1}z}) = k,}{\frac{k}{e + e^{\omega z} + \dots + e^{\omega^{k-1}z}} = e^{E^{(k)}z}.$$

Using the property of the *k*-th roots of unity

$$1 + \omega^{l} + \omega^{2l} + \ldots + \omega^{(k-1)l} = \begin{cases} k, l \equiv 0 \pmod{k} \\ 0, l \neq 0 \pmod{k} \end{cases}$$

it is easily shown that

$$e^{z} + e^{\omega z} + \ldots + e^{\omega^{k-1}z} = k \sum_{s=0}^{\infty} \frac{z^{ks}}{(ks)!}$$

and the result follows.

**4.** Some congruence relations for the number sequences  $\{E_{sk}^{(k)}\}_{s=0}^{\infty}$ . (Note: In this section, we shall drop the superscript (k).) Frobenius [4, p. 477] proved that

$$E_{2n} \equiv 1 - 2n + 8\binom{n}{2} \pmod{16}$$

as well as more precise results. Carlitz [1] proved that

$$E_{4n} \equiv 1 - 2n + 8\binom{n}{2} \pmod{16}.$$

We have proven a number of similar results for higher-order sequences, and are able to conjecture several more. These are stated in Theorems 4.1 and 4.2 and Conjecture 4.1.

THEOREM 4.1. We have the following congruences mod 16.

(i)  $E_{3n} \equiv 3 - 4n + 8\binom{n+1}{3}$ (ii)  $E_{6n} \equiv 3 - 4n$ (iii)  $E_{8n} \equiv 1 - 2n + 8\binom{n}{2}$ (iv)  $E_{16n} \equiv 1 - 2n + 8\binom{n}{2}$ (v)  $E_{12n} \equiv 3 - 4n$ .

THEOREM 4.2. In addition, we have the following congruences (i)  $E_{3n} \equiv (-1)^n \pmod{18}$ . (ii)  $E_{5n} \equiv (-1)^n \pmod{250}$  (250 = 2.5<sup>3</sup>) (iii)  $E_{6n} \equiv -1 \pmod{12}$ .

CONJECTURE 4.1. The following congruences appear to be valid, on the basis of considerable numerical evidence.

(i)  $E_{7n} \equiv 7 - 8n \pmod{16}$ (ii)  $E_{11n} \equiv (-1)^n \pmod{2662}$  (2662 = 2 · 11<sup>3</sup>) (iii)  $E_{13n} \equiv (-1)^n \pmod{4394}$  (4394 = 2 · 13<sup>3</sup>) (iv)  $E_{14n} \equiv E_{7n} \pmod{16}$  ( $\equiv 7 - 8n$ ?) (v)  $E_{15n} \equiv 15 \pmod{16}$ (vi)  $E_{2^k n} \equiv 1 - 2n + 8 \binom{n}{2} \pmod{16}, k = 1, 2, \dots$ 

Notes. 1. Parts (i) and (ii) of Theorem 4.1 would disprove a conjecture that  $E_{(2k)n} \equiv E_{kn} \pmod{16}$ ,  $k = 2, 3, \ldots$ 

2. Theorem 4.2, parts (i) and (ii), and Conjecture 4.1, parts (iii) and (iv) might suggest a conjecture of the type  $E_{pn} \equiv (-1)^n \pmod{2p^{\alpha}}$  for some positive  $\alpha$ . But  $E_{7n} \equiv 4 \pmod{686}$  for n = 11 and 13.

3. There are other conjectures which could be made on the basis of numerical studies, but they don't seem to have quite such appealing formulas. For example, mod 16,  $E_{5n}$  reproduces the following set of twelve residues, repeating:

15, 11, 1, 3, 11, 9, 7, 3, 1, 11, 3, 9;

while  $E_{9n}$  reproduces the following set of 28 residues, repeating:

15, 11, 5, 3, 1, 9, 3, 3, 3, 1, 11, 9, 13, 11, 7, 3, 13, 3, 9, 9, 3,

11, 11, 9, 11, 1, 13, 11.

In order to prove the two theorems we shall establish several preliminary results.

LEMMA 4.1.1. In order to show

(4.1) 
$$E_{tn} \equiv f(n) \pmod{g(t)}, n = 1, 2, \dots$$

it suffices to prove that this is true for n = 1 and that

(4.2) 
$$\sum_{k=0}^{n} {\binom{tn}{tk}} f(k) \equiv -1 + f(0) \pmod{g(t)}, \quad n = 2, 3, \dots$$

*Proof.* From (4.2) and (2.1) we would have

$$\sum_{k=1}^{n} {\binom{tn}{tk}} \{f(k) - E_{tk}\} \equiv 0 \mod (g(t)).$$

Thus we would have

$$\sum_{k=1}^{n-1} {\binom{tn}{tk}} \{f(k) - E_{tk}\} + f(n) - E_{tn} \equiv 0 \mod (g(t)),$$

and (4.1) is now a simple induction on n.

Lемма 4.1.2.

(i) 
$$\sum_{k=0}^{\lfloor (n-l)/j \rfloor} {n \choose l+jk} x^{l+kj} = \frac{1}{j} \sum_{r=1}^{j} (\omega_j^r)^{-l} (1+x\omega_j^r)^n,$$

where  $\omega_j = e^{2\pi i/j}$ , l a non-negative integer, and  $j - 1 \ge l$ . In particular

(ii) 
$$\sum_{k=0}^{\lfloor (n-l)/j \rfloor} \binom{n}{l+jk} = \frac{1}{j} \sum_{r=1}^{j} \left( 2 \cos \frac{\pi r}{j} \right)^n \cos \frac{(n-2l)r\pi}{j}$$
  
(iii) 
$$\sum_{k=0}^{n} \binom{jn}{jk} = \frac{2^{jn}}{j} \sum_{r=0}^{j-1} \left( \cos \frac{\pi r}{j} \right)^{jn} (-1)^{rn}$$
  
(iv) 
$$\sum_{k=0}^{n} \binom{jn-2}{jk} = \frac{2^{jn-1}}{j} \sum_{r=0}^{j-1} \left( \cos \frac{\pi r}{j} \right)^{jn} (-1)^{rn}$$
  

$$- \frac{2^{jn-2}}{j} \sum_{r=0}^{j-1} \left( \cos \frac{\pi r}{j} \right)^{jn-2} (-1)^{rn}.$$

*Proof.* The first result appears as relation 1.53 in [5], and is easily proven from the binomial theorem and properties of primitive roots of unity. The terms for r = 0 and r = j are the same.

LEMMA 4.1.3. For j = 1, 2, ... we have

(i) 
$$\sum_{k=0}^{n} k \binom{nj}{kj} = \frac{n}{2} \sum_{k=0}^{n} \binom{nj}{kj}$$
  
(ii)  $\sum_{k=0}^{n} k^{2} \binom{nj}{kj} = \frac{n(nj-1)}{j} \sum_{k=0}^{n} \binom{nj-2}{kj} + \frac{n}{2j} \sum_{k=0}^{n} \binom{nj}{kj}$   
(iii)  $\sum_{k=0}^{n} k^{3} \binom{nj}{kj} = \frac{n^{2}}{4} (\frac{3}{j} - n) \sum_{k=0}^{n} \binom{nj}{kj} + \frac{3n^{2}(nj-1)}{2j} \sum_{k=0}^{n} \binom{nj-2}{kj^{2}}$ .

*Proof.* Relation (i) is most readily proved by noting that

$$\sum_{k=0}^{n} k \binom{nj}{kj} = \sum_{k=0}^{n} k \binom{nj}{(n-k)j} = \sum_{k=0}^{n} (n-k) \binom{nj}{kj}$$

so that we have

$$2\sum_{k=0}^{n} k\binom{nj}{kj} = \sum_{k=0}^{n} [k + (n-k)]\binom{nj}{kj} = n \sum_{k=0}^{n} \binom{nj}{kj}.$$

In order to prove relation (ii) we note that

$$k^{2} = \frac{1}{j}k(kj-1) + \frac{1}{j}k,$$

so that we have

$$\sum_{k=0}^{n} k^{2} \binom{nj}{kj} = \frac{1}{j} n(nj-1) \sum_{k=0}^{n} \binom{nj-2}{j(n-k)} + \frac{1}{j} \sum_{k=0}^{n} k \binom{nj}{kj} ,$$

and relation (ii) follows from relation (i).

In proving relation (iii), we note that

$$\sum_{k=0}^{n} k^{3} \binom{nj}{kj} = \sum_{k=0}^{n} (n-k)^{3} \binom{nj}{kj} = n^{3} \sum_{k=0}^{n} \binom{nj}{kj} - 3n^{2} \sum_{k=0}^{n} k \binom{nj}{kj} + 3n \sum_{k=0}^{n} k^{2} \binom{nj}{kj} - \sum_{k=0}^{n} k^{3} \binom{nj}{kj}$$

so that from relation (i) we have

$$\sum_{k=0}^n k^3 {\binom{nj}{kj}} = -rac{1}{4} \, n^3 \sum_{k=0}^n \, {\binom{nj}{kj}} \, + rac{3}{2} \, n \, \sum_{k=0}^n \, k^2 {\binom{nj}{kj}} \; ,$$

and relation (iii) follows from relation (ii).

Lемма 4.1.4.

$$\begin{aligned} \text{(i)} & \sum_{k=0}^{n} \binom{3n}{3k} = \frac{1}{3} \{2^{3n} + (-1)^{n}2\} \\ \text{(ii)} & \sum_{k=0}^{n-1} \binom{3n-2}{3k} = \frac{1}{3} \{2^{3n-2} + (-1)^{n-1}\} \\ \text{(iii)} & \sum_{k=0}^{n} \binom{6n}{6k} = \frac{1}{3} \{2^{6n-1} + (-1)^{n}3^{3n} + 1\} \\ \text{(iv)} & \sum_{k=0}^{n-1} \binom{6n}{6k+3} = \frac{1}{3} \{2^{6n-1} + (-1)^{n-1}3^{3u} + 1\} \\ \text{(iv)} & \sum_{k=0}^{n-1} \binom{6n}{6k+3} = (-1)^{n}2^{2n-1}\sum_{k=0}^{2n} 2^{k}\binom{4n}{2k} + 2^{4n-2} + 2^{8n-3} \\ \text{(vi)} & \sum_{k=0}^{n} \binom{8n-2}{8k} = (-1)^{n}2^{2n-2}\sum_{k=0}^{2n-1} 2^{k}\binom{4n-1}{2k} + 2^{8n-5} \\ \text{(vii)} & \sum_{k=0}^{n} \binom{10n}{10k} = \frac{1}{5} \left\{ 2^{10n-1} + (-1)^{n}\frac{1}{2^{5n-1}}\sum_{\ell=(5n)/2}^{5n} \binom{5n}{2\ell-5n} 5^{\ell} \\ + \frac{1}{2^{10n-1}}\sum_{k=0}^{5n} \binom{10n}{2k} 5^{k} \right\} \\ \text{(viii)} & \sum_{k=0}^{n-1} \binom{12n}{10k+5} = \frac{1}{5} \left\{ 2^{10n-1} + (-1)^{n-1}\frac{1}{2^{5n-1}}\sum_{\ell=(5n)/2}^{5n} \binom{5n}{2\ell-5n} 5^{\ell} \\ + \frac{1}{2^{10n-1}}\sum_{k=0}^{5n} \binom{10n}{2k} 5^{k} \right\} \\ \text{(ix)} & \sum_{k=0}^{n} \binom{12n}{12k} = (-1)^{n}\frac{1}{3}\sum_{k=0}^{3n} 2^{k}3^{3n-k}\binom{6n}{2k} \\ + \frac{1}{6}\{3^{6n} + 1 + (-1)^{n}2^{6n} + 2^{12n-1}\} \\ \text{(x)} & \sum_{k=0}^{n} \binom{16n}{16k} = (-1)^{n}2^{2n-2}\sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n+\ell} \binom{8n}{2k} \binom{4n-k}{4n-2\ell} \\ + 2^{4n-2}\sum_{k=0}^{2n} 2^{k}\binom{8n}{2k} + 2^{8n-3} + 2^{16n-4} \\ \text{(xi)} & \sum_{k=0}^{n-1} \binom{16n-2}{16k} = (-1)^{n}2^{2n-2} \sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n-2} 2^{k+\ell}\binom{8n}{2k} + 2^{8n-3} + 2^{16n-4} \\ \text{(xi)} & \sum_{k=0}^{n-1} \binom{16n-2}{16k} = (-1)^{n}2^{2n-2} \sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n-2} 2^{k+\ell}\binom{8n-2}{2k} + 2^{4n-4} \\ \text{(xi)} & \sum_{k=0}^{n-1} \binom{16n-2}{16k} = (-1)^{n}2^{2n-2} \sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n-2} 2^{k+\ell}\binom{8n-2}{2k} + 2^{4n-4} \\ \text{(xi)} & \sum_{k=0}^{n-1} \binom{16n-2}{16k} = (-1)^{n}2^{2n-2} \sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n-2} 2^{k+\ell}\binom{8n-2}{2k} + 2^{4n-4} \\ \text{(xi)} & \sum_{k=0}^{n-1} \binom{16n-2}{16k} = (-1)^{n}2^{2n-2} \sum_{k=0}^{4n-1} \sum_{\ell=((k+1)/2)}^{2n-2} 2^{k+\ell}\binom{8n-2}{2k} + 2^{4n-6}. \\ \end{bmatrix}$$

*Proof.* These results are all based on Lemma 4.1.2, together with evaluations of the appropriate cosines. As examples, we indicate the proofs of (iv), (v), (vii), and (x):

(iv) 
$$\sum_{k=0}^{n-1} {\binom{6n}{6k+3}} = \frac{1}{6} \{ 2^{6n} + (\sqrt{3})^{6n} (-1)^{n-1} + 1 + 0 + 1 + (\sqrt{3})^{6n} (-1)^{n-1} \};$$
  
(v) 
$$\sum_{k=0}^{n} {\binom{8n}{8k}} = \frac{1}{8} 2^{8n} \sum_{r=0}^{7} \left( \cos \frac{\pi r}{8} \right)^{8n} (-1)^{rn} = 2^{8n-3} + 2^{2n-2} \sum_{r=1}^{3} \left( \cos \frac{\pi r}{8} \right)^{8n} (-1)^{rn},$$

where

$$\cos\frac{\pi}{8} = \frac{\sqrt{2+\sqrt{2}}}{2}, \quad \cos\frac{3\pi}{8} = \frac{\sqrt{2-\sqrt{2}}}{2};$$

(vii) if  $\theta = \pi/5$ , then  $2\theta = \pi - 3\theta$ , so that  $\sin 2\theta = \sin 3\theta$ , whence

$$\cos \theta = \frac{1 + \sqrt{5}}{4}, \cos \frac{\theta}{2} = \sqrt{\frac{5 + \sqrt{5}}{8}}, \cos \frac{3\theta}{2} = \sqrt{\frac{5 - \sqrt{5}}{8}}, \\ \cos 2\theta = \frac{\sqrt{5} - 1}{4};$$
(x)  $\cos \frac{\pi}{16} = \frac{\sqrt{2 + \sqrt{2} + \sqrt{2}}}{2}, \cos \frac{3\pi}{16} = \frac{\sqrt{2 + \sqrt{2} - \sqrt{2}}}{2}, \\ \cos \frac{5\pi}{16} = \frac{\sqrt{2 - \sqrt{2} - \sqrt{2}}}{2}, \cos \frac{7\pi}{16} = \frac{\sqrt{2 - \sqrt{2} + \sqrt{2}}}{2}.$ 

Proof of Theorem 4.1. (i) From Lemma 4.1.1, it suffices to prove

$$\sum_{k=0}^{n} \binom{3n}{3k} \left\{ 3 - 4k + 8\binom{k+1}{3} \right\} \equiv 2 \pmod{16}.$$

Since we have

$$3 - 4k + 8\binom{k+1}{3} = 3 - \frac{16}{3}k + \frac{4}{3}k^3,$$

we must show

$$3\sum_{k=0}^{n} \binom{3n}{3k} - \frac{16}{3}\sum_{k=0}^{n} k\binom{3n}{3k} + \frac{4}{3}\sum_{k=0}^{n} k^{3}\binom{3n}{3k} \equiv 2 \pmod{16}.$$

From Lemma 4.1.3, this is equivalent to showing

$$\frac{9-8n+n^2-n^3}{3}\sum_{k=0}^n \binom{3n}{3k} + \frac{6n^3-2n^2}{3}\sum_{k=0}^n \binom{3n-2}{3k} \equiv 2 \pmod{16}$$

By Lemma 4.1.4, parts (i) and (ii), this is equivalent to showing

$$\frac{9-8n+n^2-n^3}{9}\{2^{3n}+(-1)^n2\}+\frac{6n^3-2n^2}{9}\{2^{3n-2}+(-1)^{n-1}\}\$$
  
$$\equiv 2 \pmod{16},$$

or equivalently

$$\frac{2^{3n-1}}{9}(n^3 + n^2 - 16n - 18) + \frac{(-1)^n}{9}(-8n^3 + 4n^2 - 16n + 18) \\\equiv 2 \pmod{16},$$

or equivalently

$$2^{3n-1}(n^3 + n^2 - 16n - 18) + (-1)^n(-8n^3 + 4n^2 - 16n + 18)$$
  
= 18(mod 16)

For n = 1, the result is certainly true, while for  $n \ge 2$ , it reduces to

 $(-1)^n(-8n^3+4n^2+2) \equiv 2 \pmod{16}$ 

or

$$(-1)^n(-4n^3+2n^2+1) - 1 \equiv 0 \pmod{8}.$$

For n = 2k, the left side is  $8(-4k^3 + k^2)$ , while for n = 2k + 1, it is  $8(4k^3 + k^2)$ , and we are done.

(ii). Proceeding as in part (i), we see that it suffices to show that, for integer  $n \ge 1$ ,

$$\frac{3-2n}{3}\left(2^{6n-1}+1+(-1)^n3^{3n}\right) \equiv 2 \pmod{16}$$

or

$$(3-2n)(1+(-1)^n 3^{3n}) - 6 \equiv 0 \pmod{16}$$

or

$$(3-2n)(1+5^n)-6 \equiv 0 \pmod{16}$$
.

A simple induction argument shows that 16 divides  $-10(5^n - 1) + 8n$ , and this yields an induction argument to prove the required result.

(iii), (iv). These are easily checked for n = 1, 2, 3, while for  $n \ge 4$  the results follow from Lemma 4.1.3 and the appropriate parts of Lemma 4.1.4.

(v). Proceeding as in part (i), we see that it suffices to show that, for integer  $n \ge 1$ ,

$$\frac{3-2n}{3} (-1)^n \sum_{k=0}^{3n} 2^{2k} 3^{3n-k} \binom{6n}{2k} + \frac{3-2n}{6} (3^{6n} + (-1)^n 2^{6n} + 1 + 2^{12n-1}) \equiv 2 \pmod{16}$$

or equivalently

$$(3-2n)\frac{(-1)^n}{3}\left\{3^{3n}+4(3^{3n-1})\binom{6n}{2}+\sum_{k=1}^{3n-1}2^{2k}3^{3n-k}\binom{6n}{2k}+2^{6n}\right\}$$
$$+(3-2n)\left\{\frac{3^{6n-1}}{2}+\frac{(-1)^n2^{6n-1}}{3}+\frac{1}{6}+\frac{2^{12n-2}}{3}\right\}\equiv 2\pmod{16}$$

or equivalently

$$(3-2n)(-1)^{n} \{3^{3n-1} + 4(3^{3n-2})3n(6n-1) + 2^{6n-1}\} + (3-2n) \left\{\frac{3^{6n-1}}{2} + \frac{1}{6} + \frac{2^{12n-2}}{3}\right\} \equiv 2 \pmod{16}.$$

If we now replace  $3^k = (4 - 1)^k$  by  $(-1)^k + 4k(-1)^{k-1} + 8k(k - 1)(-1)^k \pmod{16}$ , the result follows readily.

Proof of Theorem 4.2. (i). From Lemma 4.1.1, it suffices to show

$$\sum_{k=0}^{n} \binom{3n}{3k} (-1)^{k} \equiv 0 \pmod{18}.$$

For n = 2m + 1,

$$\sum_{k=0}^{2m+1} \binom{6m+3}{3k} (-1)^k = \sum_{k=0}^m \binom{6m+3}{6k} - \sum_{k=0}^m \binom{6m+3}{6k+3} = 0.$$

For n = 2m,

$$\sum_{k=0}^{2m} \binom{6m}{3k} (-1)^k = \sum_{k=0}^m \binom{6m}{6k} - \sum_{k=0}^{m-1} \binom{6m}{6k+3} = (2)3^{3m-1} (-1)^m,$$

by Lemma 4.1.4, parts (iii) and (iv), and for  $m \ge 1$ , 18 divides  $(2)3^{3m-1}(-1)^m$ .

(ii). As in part (i), it suffices to show

$$\sum_{k=0}^{n} {\binom{5n}{5k}} (-1)^{k} = \sum_{k=0}^{m} {\binom{10m}{10k}} - \sum_{k=0}^{m-1} {\binom{10m}{10k+5}} \equiv 0 \pmod{250}.$$

Since

$$\begin{pmatrix} 5n\\5k \end{pmatrix} = \begin{pmatrix} 5n\\5n-5k \end{pmatrix} \text{ and } \begin{pmatrix} 2l\\l \end{pmatrix} \text{ is even, clearly we have}$$
$$\sum_{k=0}^{n} \begin{pmatrix} 5n\\5k \end{pmatrix} (-1)^{k} \equiv 0 \pmod{2}.$$

Also, by Lemma 4.1.4, parts (vii) and (viii),

$$\sum_{k=0}^{m} \binom{10m}{10k} - \sum_{k=0}^{m-1} \binom{10m}{10k+5} = \frac{(-1)^m}{2^{5m-2}} \sum_{l=\lfloor (5m)/2 \rfloor}^{5m} \binom{5m}{2l-5m} 5^{l-1}.$$

For m = 1, the left side is (-250), while for  $m \ge 2$ ,  $l - 1 \ge 4$ , and the result follows.

(iii). By Lemma 4.1.1, it suffices to show that

$$\sum_{k=0}^{n} \binom{6n}{6k} (-1) \equiv -2 \pmod{12}.$$

By Lemma 4.1.4, part (iii), this is equivalent to showing

$$\frac{1}{3}(2^{6n-1} + (-1)^n 3^{3n} - 5) \equiv 0 \pmod{12}.$$

For this, it suffices to show 4 divides  $(-1)^n 3^{3n} - 5$  and 9 divides  $2^{6n-1} - 5$ , each of which follows by a simple induction argument.

THEOREM 4.3.  $(-1)^n E_{kn} > 0, k = 2, 3, \ldots$ 

*Proof.* In effect, this is result (10.3) in [3], in which  $(-1)^n E_{kn}$  counts a certain class of permutations.

## References

- 1. L. Carlitz, Some arithmetic properties of a special sequence of integers, Can. Math. Bull. 19 (1976), 425–429.
- Combinatorial property of a special polynomial sequence, Can. Math. Bull. 20 (1977), 183–188.
- 3. Permutations with prescribed pattern, Math. Nach. 58 (1973), 31-53.
- 4. F. G. Frobenius, Uber die Bernoullischen Zahlen und die Eulerschen Polynome, Gesammelte Abhandlungen III (Springer, Berlin-Heidelberg-New York, 1968), 440-478.
- 5. H. W. Gould, Combinatorial identities (Morgantown Printing and Binding Co., 1972).
- 6. D. J. Leeming, Some properties of a certain set of interpolating polynomials, Can. Math. Bull. 18 (1975), 529-537.
- 7. D. H. Lehmer, Lacunary recurrence formulas for the numbers of Bernoulli and Euler, Ann. Math. 36 (1935), 637-649.
- 8. N. E. Nörlund, Mémoire sur les polynomes de Bernoulli, Acta Math. 23 (1920), 121-144.

University of Victoria, Victoria, British Columbia